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Que. 1: (A) Write short note: Accounting Standard - 2 (Valuation of inventories) (08)

(B) Vinod purchased a machine of Rs. 3,60,000 and paid installation charge Rs. 40,000 on 1-4-
2016. He purchased a second machine of Rs. 3,00,,000 on 1-10-2017. He sold first machine by

20% loss on book value on 31-3-2019. Depreciation is to be charged 10% by straight line
method for both the machine. Prepare machine A/c. for first three years ended 31-3-2019.  (07)

) OR
(A) Explain straight line method and diminishing balance method. - 07)
(B) The following is the receipts and issues of material in a factory. ' (08)

Opening stock as on 1-3-2019: 10,000 unit at Rs 2 per unit
Receipt , Issue

Date Unit | Rate¥ | Date |. Unit
6-3-2019 | 12,000 3 10-3-2019 | 15,000
[3-3-2019 | 15,000 4 20-3-2019 | 12,000
25-3-2019 1 8,000 5 28-3-2019 | 5,000

The stock verifier receive that there was a shortage of 1000 unit on 31-3-2019,
Prepare stock Register | Using FIFO Method).

Que. 2: Ayan and Sarim are partners sharing profit-loss in the proportion of 4 : 6. Prepare annual

accounts of the firm from the trial balance as on 31-3-2019 and adjustments. (15)
~ Debit Balance Rs. Credit Balance Rs.

Debtors 30,000 | Capital:
Cash balance 10,600 : Ayan , 90,000
Drawings: Sarim. ' 70,000
Ayan 12,500 { Creditors ' 5,000
Sarim ' 2,500 | Purchase return i 1,000
Sales return , 1,500 | Bank overdraft _ 2,000
Purchase 75,000 | Bad debts reserve ‘ 750
Stock {1-4-2018) 20,000 | Bills payabie 1,500
Bed debts 500 | Sales 76,250
Machinery 22,500 | 5% Loan of Akshar (1-10-2018) 10,000
Discount allowed 750 : ' :
Furniture 7.000
Building on Lease (for 3 years) 7,500
Goodwill . 35,000 |
Trade expense 6,600

Rent-rates | 46004 R IS
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Carrtage inward 800

Bank interest 1,250

Insurance premium 700

Salaries 10,000

Wages 7,500

Prepaid insurance 300 :

2,56,500 2,56,500
Additional information:
(1) Calculate 10% depreciation on machinery and furniture.
(2) Value of closing stock is Rs. 35,000,
(3) Provide 5% bed debts reserve on debotrs,
(4) Caleulate 5:% interest on capital and 10% interest on drawing.
(5) Unpaid expenses: Salary Rs. 1,000, Rent-rates Rs. 100.
OR

Que. 2: (A) Prepare Trading account, Profit & Loss account and Balance sheet with imagining
figures (10)
(B) The closing stock was valued at Rs. 50,000 in which, market value of 10% of goods is 20%
less and market value of 20% of goods is [0% more. find out Closing Stock (5)

Que. 3: Kamal, Komal and Kamini are partners shaung pnoﬁt and loss in the ratio of 6 : 4 : 2,
They decided to dissolve their partne:sh[p fiem on 31-3-2019, The balance sheet of the firm on

that date was as under, . {15)
Liabilities Rs. Assets " Rs.

Capital: ' Goodwill 1,00,000

Kamal 1,00,000 Machinery 1,60,000

Komal 1,50,000 Stock _ 1,506,000
Kamini 20,000 i 2,70,000 | Debtors 2,00,000 |

Reserve 60,000 |-B.D.R, 10,000 | 1,90,000

Creditors 1,30,000 | Bills receivable ' 60,000

Maya’s Loan 2,70,000 | Cash balance 40,000

P. & L. Alc. 30,000

7,30,000 7,30,000

Additional mtonmatlon

(1) Machinery and stock realized of Rs. 2 00,000,

(2) Received Rs. 50,000 from bills receivable, .

(3) Rs. 1,50,000 recovered from the debtors.

(4) Unrecorded assets realized of Rs. 30,000,

(5) Rs, 1,00,000 paid to creditors as final settlement.

(6) Kamal agreed to pay Maya’s loan.

(7) Dissolution expense was of Rs. 40,000.
Kamini was declare insolvent, Received Rs. 5,000 from his pnvate assets.
Prepare (1) Realisation account, (2) Partners’ capitals accounts and (3} Cash account,

OR

Que. 3: (A) Explain different methods of Partnership Dissolution (10)
(B) Write note on Realization account,

(5)
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Que. 4: Rag and Ragini are partners sharing profit and loss in the ratio of 4: 6. Their balance

sheet as on 31-3-2019 was as under, (15)
Liabilities Rs. Assets Rs.

Capital: Goodwill 6,250
Rag 20,000 Building 30,000
.| Ragini 25,000 45,000 | Machinery 5,750
General reserve 2,500 | Investment 3,750
10% Bank loan 12,500 | Debtors 17,500
Creditors 15,000 1 Stock 8,750
Cash-bank 3,000
75,000 ' 75,000

On 1-4-2019 firm was converted in to Sangit Ltd. Conditions and other information are as

follows,

(1) Company accepted all the assets and creditors of the firm,

(2) Goodwill of the firm was valued of Rs, 20,000,

(3) Building, machinery and investment are valued Rs. 37,500, Rs. 6,250 and Rs, 5,000
respectively, when debtors are value at 10% bad debts reserve,

(4) Other assets are to be taken at book value.

(5) Company agreed to pay as consideration 2750 equity shares of Rs. 10 each, debentures of

Rs, 23,750 and remaining amount in cash, ,
(6) Ragini agreed to pay Bank loan with accrued interest of Rs 1500,

(7) Firm was paid dissolution expense of Rs. 1,000.

Partners will distribute shares and debentures in their P & |, Ratio.

Prepare following accounts from the above information.
(1} Realisation account, (2) Partners’ capitals accounts and (3) Cash-bank account,

OR

Que, 4: (A) Explain Conversion Partaership firm into Company. (5)

(B) Explain Net assets method (5)

(C) Explain Purchase consideration method (5)
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